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1. Given below are two statements : One is labelled as Assertion (A) an other is labelled as Reason (R)

Assertion (A) : Time of oscillation of a liquid drop depends on surface tension (S), if density of the liquid is 

and radius of the drop is r, then T = K 
3r

3
S

2

  is dimensionally correct, where K is dimensionless.

Reason (R) : Using dimensional analysis we get R.H.S. having different dimension than the of time period.

In the light of above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

uhps nks dFku fn, x, gSa % buesa ls ,d ‘vfHkdFku’(A) }kjk ,oa nwljk *dkj.k* (R) }kjk fu:fir gSA

vfHkdFku (A) : fdlh nzo dh cw¡n ds nksyu dk vkorZdky] i"̀B ruko ij fuHkZj djrk gSA ;fn nzo dk ?kuRo  ,oa cw¡n dh

f=kT;k r gS] rks T = K 
3r

3
S

2

  foekvksa ds vuqlkj lgh gSA tgk¡ K foekfoghu gSA

dkj.k (R) : foeh; fo'ys"k.k djus ij] gesa R.H.S. (nkfguh gkFk dh rjQ) ij] le; dh foek ls vyx foek izkIr gksrh

gSA

mijksDr dFkuksa ds vk/kkj ij] uhps fn, x, fodYiksa esa ls lgh mÙkj pqusaA

(1) (A) vkSj (R) nksuksa lR; gS] ,oa (R), (A) dh lgh O;k[;k gSA

(2) (A) vkSj (R) nksuksa lR; gSa] fdUrq (R), (A) dh lgh O;k[;k ugha gSA

(3) (A) lR; gS fdUrq (R) vlR; gSA

(4) (A) vlR; gS fdUrq (R) lR; gSA

Question ID : 100231

Ans. Official Answer NTA (4)

Sol.



Question Paper With Text Solution (Physics)
JEE Main July 2022 | 29 July Shift-1

Page No. 3

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

2. A ball is thrown up vertically with a certain velocity so that, it reaches a maximum height h. Find the ratio of the

times in which it is at height 
h

3
 while going up and corning down respectively :

,d xsan dks fdlh fuf'pr osx ls Åij dh rjQ bl rjg Qasdk tkrk gS fd ;g h Å¡pkbZ r; djrh gSA mu le;ksa dk

vuqikr Kkr djks tc xsan Åij tkrs le; ,oa uhps vkrs le; h

3
 Å¡pkbZ ij gSA

(1) 
2 1

2 1





(2) 
3 2

3 2





(3) 
3 1

3 1





(4) 
1

3

Question ID : 100232

Ans. Official Answer NTA (2)

Sol.

3. If t x 4  , then 
t 4

dx

dt 

 
 
 

 is :

;fn t x 4  , rks 
t 4

dx

dt 

 
 
 

 dk eku gS :

(1) 4

(2) 0

(3) 8

(4) 16

Question ID : 100233

Ans. Official Answer NTA (2)

Sol.
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4. A smooth circular groove has a smooth vertical wall as shown in figure. A block of mass m moves against the

wall with a speed v. Which of the following curve represents the correct relation between the normal reaction

on the block by the wall (N) and speed of the block (v) ?

v

,d fpduk o`Ùkkdkj ?ksjk gS] ftldh m/okZ/kj fpduh nhokj fp=kkuqlkj gSaA ,d m nzO;eku dk xqVdk nhokj ds lkFk osx

v ls py jgk gSA fuEufyf[kr esa ls dkSu&lk oØ] nhokj }kjk xqVds ij yxkbZ xbZ yEcor izfrfØ;k (N) ,oa xqVds ds osx

(v) ds laca/k dks iznf'kZr dj jgk gS ?

v

(1) N

v

(2) N

v

(3) N

v

(4) N

v

Question ID : 100234

Ans. Official Answer NTA (1)

Sol.
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5. A ball is projected with kinetic energy E, at an angle of 60° to the horizontal. The kinetic energy of this ball at

the highest point of its flight will become :

,d xsan dks E xfrt ÅtkZ ds lkFk {kSfrt ry ls 60° ds dks.k ij iz{ksfir fd;k tkrk gSA iz{ksi.k ds nkSjku vf/kdre

Å¡pkbZ ij bl xsan dh xfrt ÅtkZ gks tk,xh :

(1) zero

(2) 
E

2

(3) E

4

(4) E

Question ID : 100235

Ans. Official Answer NTA (3)

Sol.

6. Two bodies of mass 1 kg and 3 kg have position vectors ˆ ˆ ˆi 2 j k   and ˆ ˆ ˆ3i 2 j k    respectively. The magnitude

of position vector of centre of mass of this system will be similar to the magnitude of vector:

1 kg nzO;eku ,oa 3 kg nzO;eku okys nks fi.Mksa ds fLFkfr lfn'k Øe'k% ˆ ˆ ˆi 2 j k   ,oa ˆ ˆ ˆ3i 2 j k    gSaA bl fudk; ds

nzO;eku dsUnz ds fLFkfr lfn'k ds ifjek.k dk eku] fuEu esa ls fdl lfn'k ds ifjek.k ds eku ds cjkcj gksxk %

(1) ˆ ˆ ˆi 2 j k 

(2) ˆ ˆ ˆ3i 2 j k  

(3) ˆ ˆ2i 2k 

(4) ˆ ˆ ˆ2i j 2k  

Question ID : 100236

Ans. Official Answer NTA (1)

Sol.

7. Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason(R).

Assertion (A) : Clothes containing oil or grease stains cannot be cleaned by water wash.

Reason (R) : Because the angle of contact between the oil/grease and water is obtuse.

In the light of the above statements, choose the correct answer from the option given below.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
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(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

uhps nks dFku fn, x, gSa % buesa ls ,d *vfHkdFku (A)' }kjk ,oa nwljk *dkj.k (R)' }kjk fu:fir gSA

vfHkdFku (A) : diM+ksa ij yxs rsy ;k xzhl ds nkx ikuh dh /kqykbZ ls ugha gVk, tk ldrsA

dkj.k (R) : D;ksafd rsy ;k xzhl ,oa ikuh ds chp cuk Li'kZ dks.k] vf/kd dks.k gksrk gSA

Åij fn, x, dFkuksa ds vk/kkj ij] uhps fn, x, fodYiksa esa ls lgh mÙkj pqusaA

(1) (A) ,oa (R) nksuksa lR; gSa] ,oa (R), (A) dh lgh O;k[;k gSA

(2) (A) ,oa (R) nksukas lR; gS fdUrq (R), (A) dh lgh O;k[;k ugha gSA

(3) (A) lR; gS] fdUrq (R) vlR; gSA

(4) (A) vlR; gS] fdUrq (R) lR; gSA

Question ID : 100237

Ans. Official Answer NTA (1)

Sol.

8. If the length of a wire is made double and radius is halved of its respective values. Then, the Young’s modulus

of the material of the wire will :

(1) remain same

(2) become 8 times its initial value

(3) become 
1

4
th of its initial value

(4) become 4 times its initial value

vius izkjfEHkd ekuksa ls] d, rkj dh yEckbZ nksxquh ,oa f=kT;k vk/kh dj nh xbZ gSA inkFkZ ds ;ax fu;rkad dk eku :

(1) leku jgsxk

(2) vius izkjfEHkd eku dk 8 xquk gks tk,xk

(3) vius izkjfEHkd eku dk 
1

4
 xquk gks tk,xk

(4) vius izkjfEHkd eku dk  4 xquk gks tk,xk

Question ID : 100238

Ans. Official Answer NTA (1)

Sol.
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9. The time period of oscillation of a simple pendulum of length L suspended from the roof of a vehicle, which

moves without friction down an inclined plane of inclination , is given by :

fdlh okgu dh Nr ls]  ,d L yEckbZ okyk ,d ljy yksyd yVd jgk gSA ;g okgu vkur dks.k okys ?k"kZ.kjfgr

vkur ry ij uhps dh rjQ py jgk gSA rks, nksyd dk yksyu dky gksxk :

(1)  
L

2
g cos




(2)  
L

2
g sin




(3) 
L

2
g



(4)  
L

2
g tan




Question ID : 100239

Ans. Official Answer NTA (1)

Sol.

10. A spherically symmetric charge distribution is considered with charge density varying as

 
0

3 r
for r R

4 R
r

zero for r R

  
   
  

  
 


Where r(r < R) is the distance from the centre O (as shown in figure). The electric field at point P will be:

(r)

R

O
r

P
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,d xksyh; lefefr esa forfjr vkos'k ds ifjorZu'khy vkos'k ?kuRo dks fuEu lehdj.k }kjk fu:fir fd;k x;k gSA

 
0

3     r
tc    r    R

4     R
r

r R

  
   
  

  
 


tc“kwU;

tgk¡] r(r < R) dsUnz O ls nwjh gS] (fp=k esa n'kkZ;s vuqlkj) P fcUnw ij fo|qr {ks=k dk eku gksxk :

(r)

R

O
r

P

(1) 
0

0

r 3 r

4 4 R

  
 

  

(2) 
0

0

r 3 r

3 4 R

  
 

  

(3) 
0

0

r r
1

4 R

  
 

  

(4) 
0

0

r r
1

5 R

  
 

  

Question ID : 100240

Ans. Official Answer NTA (3)

Sol.

11. Given below are two statements.

Statement I :      Electric potential is constant within and at the surface of each conductor.

Statement II :     Electric field just outside a charged conductor is perpendicular to the surface of the

                           conductor at every point

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both statement I and statement II are correct

(2) Both statement I and statement II are incorrect

(3) Statement I is correct but Statement II is incorrect
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(4) Statement I is incorrect but Statement II is correct

uhps nks dFku fn, x, gSa %

dFku I : fo|qr foHko dk eku] fdlh /kkrq ds vUnj ,oa mlds ry ij fu;r jgrk gSA

dFku II : fdlh vkosf'kr /kkrq ds ckgj] fo|qr {ks=k] /kkrq ds ry ds izR;sd fcUnq ij] ry ds yEcor gksrk gSA

mijksDr dFkuksa ds vk/kkj ij] uhps fn, x, fodYiksa esa ls lokZf/kd mi;qDr mÙkj pqusaA

(1) dFku I ,oa dFku II nksuksa lgh gSaA

(2) dFku I ,oa dFku II nksuksa xyr gSaA

(3) dFku I lgh gSa fdUrq dFku II xyr gSA

(4) dFku I xyr gS fdUrq dFku II lgh gSA

Question ID : 100241

Ans. Official Answer NTA (1)

Sol.

12. Two metallic wires of identical dimensions are connected in series. If 
1
 and 

2
 are the conductivities of the

these wires respectively, the effective conductivity of the combination is :

,dleku vkdkj okys nks /kkfRod rkj vkil esa Js.khØe esa tqM+s gSaA ;fn bu rkjksa dh pkydrk,¡ Øe'k% 
1
 ,oa 

2
 gSaA rks

la;kstu dh izHkkoh pkydrk gksxh  :

(1) 
1 2

1 2

 

 

(2) 
1 2

1 2

2 

 

(3) 
1 2

1 22

  

 

(4) 
1 2

1 2

  

 

Question ID : 100242

Ans. Official Answer NTA (2)

Sol.

13. An alternating emf E = 440 sin 100t is applied to a circuit containing an inductance of 
2


H. If an a.c.

ammeter is connected in the circuit, its reading will be :

,d izR;korhZ fo|qr okgd cy (emf) E = 440 sin 100t gS] ftls ,d ifjiFk esa vkjksfir fd;k tkrk gS] bl ifjiFk dk

izsjdRo 2


H gSA ;fn ,d izR;korhZ /kkjk /kkjkekih ifjiFk esa tksM+k tkrk gS] rks /kkjkekih dk ikB;kad gksxk %
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(1) 4.4 A

(2) 1.55 A

(3) 2.2 A

(4) 3.11 A

Question ID : 100243

Ans. Official Answer NTA (3)

Sol.

14. A coil of inductance 1 H and resistance 100  is connected to a battery of 6 V.   Determine approximately:

(a) The time elapsed before the current acquires half of its steady - state value.

(b) The energy stored in the magnetic field associated with the coil at an instant 15 ms after the circuit is

switched on. (Given In2 = 0.693, e–3/2 = 0.25)

1 H izsjdRo ,oa 100  izfrjks/k okyh ,d dq.MYkh 6 V dh fdlh cSVjh (fo|qr L=kksr) ls tqM+h gSA Kkr dhft, %

(a) /kkjk ds vius fLFkj voLFkk eku ds vk/ks eku dks izkIr djus ls igys yxs le; dk ekuA

(b) ifjiFk dh dqath pkyw djus ds ckn 15 ms ossa {k.k ij] dqaMyh esa fufgfr pqEcdh; {ks=k esaa lafpr ÅtkZ dk eku

(fn;k gS]  In2 = 0.693, rFkk e–3/2 = 0.25)

(1) t = 10 ms; U = 2 mJ

(2) t = 10 ms; U = 1 mJ

(3) t = 7 ms; U = 1 mJ

(4) t = 7 ms; U = 2 m

Question ID : 100244

Ans. Official Answer NTA (3)

Sol.

15. Match List -I with List -II :

                  List -I                 List -II

(a) UV rays (i) Diagnostic tool in medicine

(b) X-rays (ii) Water purification

(c) Microwave (iii) Communication, Radar

(d) Infrared wave (iv) Improving visibility in foggy days

Choose the correct answer from the options given below
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lwph - I dk lwph - II ls feyku djsa :

lwph - I(Em rjaxsa) lwph - II (iz;ksx)

(a) ijkcSaxuh (UV) fdj.ksa (i) fpfdRlk  esaa fujh{k.k (Mk;Xuksl) ds fy,

(b) X-fdj.ksa (ii) ty 'kqf)dj.k

(c) lw{erjaxssa (iii) lapkj] jkMkj

(d) vojDr (izdk'k) rjaxsa (iv) dksgjs ds fnuksa esa n`';rk esa lq/kkj ds fy,

(1) (a)- (iii); (b)- (ii); (c)- (ii); (d)- (iv)

(2) (a)- (ii); (b)- (i); (c)- (iii); (d)- (iv)

(3) (a)- (ii); (b)- (iv); (c)- (iii); (d)- (i)

(4) (a)- (iii); (b)- (i); (c)- (ii); (d)- (iv)

Question ID : 100245

Ans. Official Answer NTA (2)

Sol.

16. The kinetic energy of emitted electron is E when the light incident on the metal has wavelength . To double the

kinetic energy, the incident light must have wavelength :

tc vkifrr izdk'k dk rjaxnS/; gS rks bysDVªkWu dh xfrt ÅtkZ dk eku E gSA xfrt ÅtkZ dk eku 2E izkIr djus ds

fy, vkifrr izdk'k dk rjaxnS/;Z gksuk  pkfg, %

(1) 
hc

E hc 

(2) 
hc

E hc



 

(3) 
h

E hc



 

(4) 
hc

E hc



 

Question ID : 100246

Ans. Official Answer NTA (2)

Sol.

17. Find the ratio of energies of photons produced due to transition of an electron of hydrogen atom from its (i)

second permitted energy level to the first level, and (ii) the highest permitted energy level to the first permitted

level :



Question Paper With Text Solution (Physics)
JEE Main July 2022 | 29 July Shift-1

Page No. 12

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911
Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

gkbMªkstu ijek.kq ds bysDVªkWu dk fuEufyf[kr ifjfLFkfr;ksa esaa gq, laØe.kksa ls mRiUu QksVkWuksa dh ÅtkZvksa dk vuqikr

Kkr dhft,A

(i) f}rh; laHko ÅtkZ Lrj ls izFke Lrj ij] ,oa

(ii) mPPre laHko ÅtkZ Lrj ds izFke laHko ÅtkZ Lrj ij

(1) 3 : 4

(2) 4 : 3

(3) 1 : 4

(4) 4 : 1

Question ID : 100247

Ans. Official Answer NTA (1)

Sol.

18. Find the modulation index of an AM wave having 8 V variation where maximum amplitude of the AM wave is

9 V :

9 V ds vf/kdre vk;ke okyh] vk;ke ekMqfyr rjax dk ekMqyu  xq.kkad Kkr dhft,] ftldk vk;ke ifjorZu 8 V gSA

(1) 0.8

(2) 0.5

(3) 0.2

(4) 0.1

Question ID : 100248

Ans. Official Answer NTA (1)

Sol.

19. A travelling microscope has 20 divisions per cm on the main scale while its vernier scale has total 50 divisions

and 25 vernier scale divisions are equal to 24 main scale divisions, what is the least count of the travelling

microscope?

,d py  lw{en'khZ ds eq[; iSekus ij izfr lsaVhehVj (cm) 20 foHkktu gSa tcfd blds ofuZ;j iSekus ij dqy 50 foHkktu gSaA

;fn ofuZ;j iSekuus ds 25 foHkktu] eq[; iSekus ds 24 foHkktuksa ds cjkcj gSa] rks py lw{en'khZ dk vYirekad gksxk %

(1) 0.001 cm

(2) 0.002 mm

(3) 0.002 cm

(4) 0.005 cm
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Question ID : 100249

Ans. Official Answer NTA (3)

Sol.

20. In an experiment to find out the diameter of wire using screw gauge, the following observations were noted :

P Q
45A. Screw moves 0.5 mm on main scale in one complete rotation

B. Total divisions on circular scale = 50

C. Main scale reading is 2.5 mm

D. 45th division of circular scale is in the pitch line

E. Instrument has 0.03 mm negative error

LØwxst (isapekih) }kjk fdlh rkj dk O;kl ekius ds iz;ksx esa] fuEufyf[kr voyksdu izkIr gq, :

P Q
45A. ,d iw.kZ ?kw.kZu esa] isap eq[;  iSekus ij 0.5 mm ?kwerk gSA

B. o`Ùkh; iSekus ij dqy foHkktuksa dh la[;k 50 gSA

C. eq[; iSekus dk ikB;kad 2.5 mm gSA

D. o`Ùkh; iSekus dk 45 ok¡ foHkktu] fip dh js[kk esa gSA

E. ;a=k dh _.kkRed =kqfV 0.03 mm gSA

rks rkj ds O;kl dk eku gksxk :

(1) 2.92 mm

(2) 2.54 mm

(3) 2.98 mm

(4) 3.45 mm

Question ID : 100250

Ans. Official Answer NTA (3)

Sol.

21. An object is projected in the air with initial velocity u at an angle . The projectile motion is such that the

horizontal range R, is maximum. Another object is projected in the air with a horizontal range half of the range

of first object. The initial velocity remains same in both the case. The value of the angle of projection, at which

the second object is projected, will be __________________ degree.
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,d fi.M gok esa dks.k ij izkjfEHkd osx u ls izz{ksfir fd;k tkrk gSA iz{ksi.k xfr bl izdkj gS fd r; dh xbZ vf/kdre

{kSfrt nwjh R gSA fdlh nwljs fi.M dks gok esa igys ls vk/kh {kSfrt nwjh ds fy, iz{ksfir fd;k tkrk gSA nksuksa gh

ifjfLFkfr;ksa esa izkjfEHkd osx leku gSA nwljs fi.M dk iz{ksi.k dks.k eku] tl ij og iz{ksfir fd;k x;k] _________________

fMxzh gksxkA

Question ID : 100251

Ans. Official Answer NTA (15)

Sol.

22. If the acceleration due to gravity experienced by a point mass at a height h above the surface of earth is same

as that of the acceleration due to gravity at a depth h (h << R
e
) from the earth surface. The value of  will be

___________________. (use R
e
 = 6400 km)

fdlh fcUnq nzO;eku ij] /kjkry ls h Å¡pkbZ ij yxs xq:Roh; Roj.k dk eku] ml fcUnq nzO;eku ij /kjkry ls h xgjkbZ

ij vkjksfir xq:Roh; Roj.k ds eku ds cjkcj gSA tgk¡ h << R
e
 gSA  dk eku_____________gksxkA

(ekuk R
e
 = 6400 km)

Question ID : 100252

Ans. Official Answer NTA (2)

Sol.

23. The pressure P
1
 and density d

1
 of diatomic gas 

7

5

 
  
 

 changes suddenly to P
2
( > P

1
) and d

2
 respectively

during an adiabatic process. The temperature of the gas increases and becomes ___________________ times of its

initial temperature. (given 2

1

d

d
 = 32)

,d :)ks"e izØe ds nkSjku] fdlh f}ijek.koh; xSl 
7

5

 
  
 

 dk nkc P
1
 ,oa d

1
 ls cnydj vpkud Øe'k% P

2
( > P

1
)

,oa d
2
 gks tkrk gSA xSl dk rkieku c<+sxk] vkSj vius izkjfEHkd rkieku dk_____________xquk gks tk,xkA

(fn;k gS] 2

1

d

d
 = 32)

Question ID : 100253

Ans. Official Answer NTA (4)

Sol.
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24. One mole of a monoatomic gas is mixed with three moles of a diatomic gas. The molecular specific heat of

mixture at constant volume is 
2

R
4


 J/mole K; then the value of  will be ________________.

(Assume that the given diatomic gas has no vibrational mode)

,dyijek.koh;  xSl dk ,d eksy] f}&ijek.koh; xSl ds rhu eksyksa ds lkFk fefJr fd;k tkrk gSA fu;r vk;ru ij

feJ.k dh vk.kfod fof'k"V Å"ek 
2

R
4


 J/mole K gSA rks  dk eku ____________gksxkA

(ekuk fd fn gqbZ f} & ijek.koh; xSl esa dksbZ daiu eksM+ ugha gS)

Question ID : 100254

Ans. Official Answer NTA (3)

Sol.

25. The current I flowing through the given circuit will be ___________________ A.

fn, gq, ifjiFk esa izokfgr /kkjk I dk eku ___________ A gksxkA

6 V

9  9  9 

I

Question ID : 100255

Ans. Official Answer NTA (2)

Sol.

26. A closely wounded circular coil of radius 5 cm produces a magnetic field of 37.68 × 10–4 T at its centre. The

current through the coil is ___________________ A.

[Given, number of turns in the coil is 100 and  = 3.14]

vPNh rjg dls gq, ?ksjksa okyh ,d o`Ùkkdkj dq¡Myh dh f=kT;k 5 cm gS] tks fd vius dsUnz ij 37.68 × 10–4 T dk

pqEcdh; {ks=k mRiUu dj jgh gSA dq¡Myh esa izokfgr /kkjk dk eku___________________ A gksxkA

[ekuk ?ksjksa dh la[;k 100 ,oa  = 3.14]

Question ID : 100256

Ans. Official Answer NTA (3)

Sol.
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27. Two light beams of intensities 4I and 9I interfere on a screen. the phase difference between these beams on the

screen at point A is zero and at point B is . The difference of resultant intensities, at the point A and B, will be

___________________ I.

4I ,oa 9I rhozrkvksa okyh nks izdk'k fdj.k iq¡tksa dk O;frdj.k ,d insZ ij izkIr gksrk gSA insZ ij] bu nksuksa fdj.kiq¡tksa ds

chp dyk&vUrj dk eku fcUnq A ij 'kwU; ,oa fcUnq B ij gSA fcanq A ,oa fcanq B ij] ifj.kkeh rhozrkvkas dk varj

________________ I gksxkA

Question ID : 100257

Ans. Official Answer NTA (24)

Sol.

28. A wire of length 314 cm carrying current of 14 A is bent to form a circle. The magnetic moment of the coil is

___________________ A–m2. [Given  = 3.14]

,d 314 cm yEck rkj gS] ftlesa 14 A eku dh /kkjk izokfgr gks jgh gSA bl rkj dks eksM+dj ,d o`Ùk cuk;k tkrk gSA

dqaMyh ds pqEcdh; vk?kw.kZ dk eku___________________ A–m2 gksxk  [ = 3.14]

Question ID : 100258

Ans. Official Answer NTA (11)

Sol.

29. The X-Y plane be taken as the boundary between two transparent media M
1
 and M

2
. M

1
 in Z  0 has a

refractive index of 2  and M
2
 with Z < 0 has a refractive index of 3 . A ray of light travelling in M

1
 along the

direction given by the vector ˆ ˆ ˆP 4 3i 3 3j 5k  


, is incident on the plane of separation. the value of difference

between the angle of incident in M
1
 and the angle of refraction in M

2
 will be ___________________ degree.

nks ikjn'khZ ek/;eksa M
1
 ,oa M

2 
ds chp dh foHkktu lhek X-Y ry ls fu:fir gSA ek/;e M

1
, Z  0 {ks=k esa QSyk gqvk

gS] ftldk viorZukad 2  gSaA ek/;e M
2
, Z < 0 {ks=k es a QSyk gS] ftldk viorZukad 3  gSA lfn'k

ˆ ˆ ˆP 4 3i 3 3j 5k  


 }kjk fu:fir fn'kk ds vuqfn'k izdk'k dh ,d fdj.k] M
1
 ek/;e esa py jgh gS ,oa foHkktu ry

ij  vkifrr gksrh gSA ek/;e M
1
 esa vkiru dks.k] ,oa ek/;e M

2
 esa viorZu dks.k ds varj dk eku ____________° (fMxzh)

gksxkA

Question ID : 100259

Ans. Official Answer NTA (15)

Sol.
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30. If the potential barrier across a p-n junction is 0.6 V. Then the electric field intensity, in the depletion region

having the width of 6 × 10–6 m, will be ___________________ × 105 N/C.

;fn fdlh p-n laf/k ij foHko jksf/kdk dk eku 0.6 V gSA rks 6 × 10–6 m pkSM+kbZ okys º=klh {ks=k (fMiyhlu jhtu) esa]

fo|qr {ks=k dh rhozrk dk eku_______________ × 105 N/C gksxkA

Question ID : 100260

Ans. Official Answer NTA (1)

Sol.


